CHEMISTRY TEST P

Note: For all questions involving solutions and/or chemical equations. assume that the sXem is in water unless

otherwise stated. /

Directions: Each set of lettered choices below refers to the numbered statements rmul&ﬂme #ately following it.
Select the one lettered choice that best fits each statement or formula and then fill in the corfesponding oval on the
answer sheet. A choice may be used once, more than once, or not at all in each set.

Part A

Questions -5 Questions 10-12
(A) Buret (A) Fe?*
(B) Calorimeter B) C
(C) Manometer == (©) K*
(D) Geiger counter | (D) Cs
(E) Voltmeter B (E) Au
1. Equipment needed to determine the half-life of 10. Has the eé)lec)trogl coénﬁgurat' % ~
carbon-14 P 1522522p%3523pS3d {%ﬁ‘“\ ppuy
\\_/ EU...#T \\\
2. Equipment needed for measuring the vapor pressure 11. Has a noble gas electron configuration (*, 0

of a liquid &
12. Has ¢lectrons in f orbitals glf’“

3. Equipment needed for measuring the volume of a
solution that is delivered Q,

Questions 13-16

4. Equipment needed to determine the heat of reaction (A) Tonic substance

(B) Nonpolar covalent substance
S. Equipment needed for measuring the potential of (C) Polar covalent substance

a cell E (D) Macromolecular substance CN&M( !(gi Jd

(E) Métallic substance

Questions 6-9
13. Methyl alcohol, CH;OH (*

(A) Boiling point

(B) Rate of reaction 14. Carbon tetrachloride, CCly (A ,\
(C) Molecular mass - : ;
(D) Molarity ] e -
(E) Density . 15. Cesium = ¢ ¢
6. Can be expressed as grams per milliliter fez 16. Strontium chloride ?‘f

7. Can be expressed as grams per mole @

8..'Does NOT vary with changes of temperature and &
© pressure ";enézigg <§ e @es it A o
. ) o
gl & ks
9. Is a quantity necessary to determine the molecular
formula of a compound Q

* GO.ON TO THE NEXT PAGE
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CHEMISTRY TEST—Continued

Questions 17-19

(A) Arrhenius acid
(B) Arrhenius base
(C) Buffer

(D) Indicator

(E) Salt

% 17. At 25° C. produces an aqueous solution with
pH > 7

£ 18, At 25°C,

produces an aqueous solution with
(H*]

> 1.0 x 1077 moles per liter ‘0}4 <77

) 19. Has different colors in its acidic and basisc forms

O
D

€D

<

!

‘“—-\'.

[

Questions 20-23 refer to the foll
~_L20nS £U-25
setup that was used to generate

owing experimenty)
various gases.

I

Receiver Solution
{Water)

(A) HCI
(B) NH,
(O N,

(D) H, -
(E) CO,.

. The evolved gas is not very soluble in the water and

the water remains neutral. When ignited in air, the

gas burns with a blue flame

.

The evolved gas dissolves readily in the water to give

a strongly acidic solution.

tJ

22. The evolved gas is very soluble in the water and

gives a basic solution.

i
i
{
|
|

. fThe evolved gas is slightly soluble in the water and
igives a weakly acidic solution. The gas does not
fburn in air.

[or)
ro

TN s e s«

 GO.ONTO THENEXT PAGE




CHEMISTRY TEST—Continued

Questions 17-19 Questions 20-23 refer to the following experimental
' setup that was used to generate various gases.
(A) Arrhenius acid C A
(B) Arrhenius base '
(C) Buffer
(D) Indicator
(E) Salt

17. At 25° C, produces an aqueous solution with
pH>7 :

18. At 25°C, produces an aqueous solution with
[H*]> 1.0 x 1077 moles per liter

19. Has different colors in its acidic and basic forms@ . Receiver Solution :
. : ' ‘(Water)

) HA Acd)
N (g; II:IIHB 60&(
- A A (eac
go) H, ‘New //ew#we
- (B) CO; A<

‘ @ 20. The evolved gas is not very soluble in the water and
- the water remains neutral. When ignited in air, the *
- gas bums w1th a blue ﬂame e

I

e Do ﬁ 21 The evolved gas d:ssolves readlly in the water to give
e a strongly acxdxc solutmn A |

%} .22, The evolved gas is very soluble in the water and
‘ gives a basic solution. N /

29/23. The evolved gas is shghtly soluble in the water and
gives a weakly acidic solution. The gas does not
burn in air.

QOQ\’E‘ Hfz_,o ""? VLLCO
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CHEMISTRY TEST—Continued

Part B

Directions: Each question below consists of an assertion (statement) in the left-hand column and a reason in the
nght-hand column. On the approprlate 1me of the answer sheet fill in oval :

Directions Summarized

A if both assertion and reason are true statements A-True True Reasonisa :
and the reason is a correct explanation of the : correct explanation | .
assertion; : ’

B if both assertion and reason are true statements, B-True True Reason is NOT a
’ but the reason is NOT a correct explanation of : o correct explanation
the assertion; 2 I ’

C if the assertion is true, but the reasonisa =~ | C-True False
false statement;

D if the assertion is false, but the reasonisa D-False True ""i' " ’ N
true statement; . . S .

E if both assertion and reason are false - L E-False ~ False -
statements sy S g

Assetion - . . .. . "Reason

o » (_// } - o3 42» - ) ,.: S PR . - ) ' ‘ . - mr“‘
BECAUSE /roxygen exxsts in the form of dlatomtc molecules B o
. o at room temperature and atrnosphenc pressurc B

P{ 25. A saturated solutxon may be qtute {» BECA"U.SE}'
*dllute g , SRt v,l_

D 26. “Cis an isotope of “‘-l\l F : _BECAUSE e MC and l4N have the same mass number

y 27, A catalyst accelerates a chemxcal BECAUSE ’T 'a catalyst decreases the acttvatlon energy for 2
reaction . P ul chemical reaction.
¥ 28. An endothermic reaction hasa ', . BECAUSE.~ inan endotherxmc reactlon the total enthalpy
positive AH value ’( “ (heat content) of the products i is greater than
: that of the reactants .-
9" 29. Molten potassium chlorideisa ... BECAUSE /{ " the melting process frees the ions in potassium .. ;
’ good electrical conductor /\f chloride from'their fixed positions in the crystal -
- o lattice.
. 30. Hydrogen chloride is a polar ”{ BECAUSE'? hydrogen and.chlorine have the sarne electro-
substance _ ‘ . ' _negativity. .

C/.’* 1. Ice is less dense than liquid water £ BECAUSE % water molecules are nonpolar. -

) GONTOSTHE NEXT PAGE. -



CHEMISTRY TEST—Coniétnued

Directions Summarized

A-True  True Reasonisa’
correct explanation

B-True  True Reason is NOT a
correct explanation

C-True False
D-False . True

- E-False False A

L -

- Assertion . L .. . Reason
32. A 0.1-molar solution of acetic acid BECAUSE at the same concentration, the number of acetic
is a poorer electrical conductor than . .. ... .. acid molecules that ionize in water is less than
a 0.1-molar solution of hydrochloric = - "+ the number of hydrogen chlonde molecules that
acid ' , A "\/ . ionize in water.
33. Covalent bonds are broken when BECAUSE - in molecules with covalent bonds, electrons are
sugars are dlSSOlVCd in water ,é/ N shared by fwoormoreatoms. . . - -

34. Sodmm chlonde 1s used effectxvely BECAUSE 3
“to melt Snow and ice oo Ce

ksodium chloride melts ata high temperature.

35. The. 02‘ ion and the neon atom - BECAUSE the O2 Ton and the neon atom have the same
have similar chemical properties Q o ‘( number of electrons L ) :

36. At low temperatures and high BECAUSE ,( gases expand to fill the contaxner in whxch they
pressures gases tend to condens'e/( ) ‘ are placed T

»

37. The compound sodium hydrogen BECAUSE the hydrogen carbonate ion can exther accept
carbonate, NaHCO;, can act S ‘{ or donate a proton .
as either a Bronsted base or a //\:
Brénsted acid S %

agent than chlorine
Wﬁ&)%& .

39. A solution with pH = 5 has Q/ BECAUSE /{' pH is defined as —log [H*].
a higher concentration of - 0 - -

hydronium ions than qne
with pH = 3

38§luorine is é oxidlzing <, " “ BECAUSE {/ ﬂuo’fine’atoms are larger than chlorine atoms.

72



CHEMISTRY TEST—Continued

Part C

Directions: Each of the questions or incomplete statements below is followed by five suggested answers or comple-
tions. Select the one that is best in each case and then fill in the corresponding oval on the answer sheet.

é 40. What volume of a 0.500-molar solution of
hydrochioric acid is required to neutralize
60.0 milliliters of a 1.50-molar potassium
hydroxide solution? 4

A) 360. ml . " N =189
EB)) 180. El ' YY) = (s@}(@@ S )((,07 ’?
(C) 120.ml N (+ ) /Ezﬂ, -3 w)

D) 60.0 ml P z ort
:&))_'20'0 :1 _ - (X) < Qé%f P @Ei@ W

‘9 41. . .,. Alz(CzO4)3(S) -é-) v A1203(S) + 5C0(g) + 3. COz(g)

According to the equation for the reaction represented above, what is
the mole ratio of CO to CO, that is produced by the decomposition
- of aluminum oxalate? -~ . R =

» ¢ Lo Foate s LT ey
" (A) 1mole CO:1mole CO, | C Be > =AU 1
~ (B) 1 mole CO:2moles CO, S P

~ (O) 1 mole CO: 3 moles CO, . : R T T I I VS

"..."(D) 2moles CO: 1 mo:z CO, c o _ . : e

" (E) 3moles CO: I moie CO, D RSN S

o 423 LA + . Y BCL®)—. ABH + BLICI(s) + 3 AICH(s)
‘b \ . T T e e T . Satial LD L LA B A

©7*. When the equation for the reaction re@reserﬁéd above is balanced and all ™~ *,
- coefficients are reduced to lowest whole-number terms, the coefficient of _

.. ByHg is R TN UV S e A A
N7V P _’F\’f‘&‘j}" 3 L\'MW‘ 4 2 @y

® 2 . e S ]

3 ' : kgn{ 5 Eﬂ;{a .
o4 =T

®5 3¢9 g3 Ay

i
;

&

e gﬂﬁ ) . »,% -

KTAe

e

B 6000 10 THE NeXT pAGE
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CHEMISTRY TEST—C,
B

2 Al(s) + Fey04(s)=ALOs(s) + 2 Fe(s)

According to the equation for the reaction repre-
sented above, which of the following statements is
true?

(A) If 2 moles of aluminum are usedé,g;?’fnole of
iron is produced.

(B) If I mole of aluminum i;used, 0.5 mole of
Fe,0; is consumed. feS )

(C) If 1 mole is aluminum is used, #mofé of
AlLO; is produced. « ° L 25

(D) If 0.5 mole of aluminum is used, J'mole of
ALO; is produced. Y

(E) If 0.5 mole of aluminum is used, 0:5 T
Fe,0; is consumed.

2.3
ole of

. Which of the fbllowx‘ng combinations of parficles

represents an ion of net charge — 1 and of mass
number80? = - . - . , :

(A) 44 neutrons, 35 protons, 36 electrons
(B) 44 neutrons, 36 protons, 35 electrons
(C) 44 neutrons, 36 protons, 36 electrons
(D) 45 neutrons, 35 protons, 35 electrons
(E) 45 neutrons, 35 protons, 36 electrons

have color because they ., .. . .- "

. The colored complexes of the transition elements

(A) have very high formation constants ~ - "
(B) absorb light of some visible wavelengths

(C) absorb light of some ultraviolet wavelengths o

(D) have unpaired electrons »
(E) aresoluble in water - J-
A 30_&5 , . o
CHy(g) + 3% 0x(g)—2 COy(g) + 2 H,0(R)
bg . - : :
When 100 grams of O, are allowed to react

compiletely with 1.0 mole of C,H, according to
the equation above, which of the following results?

(AX) Some C,H, remains unreactedf A

(B) Some O, remains unreacted. v 4 j

£€) Only CO, and H,0 are present when the
 reaction has run to completion. ¢z @i¢?®
Less than 2 moles of CO, is formed. "o
The partial pressure of O, Halls to zero. no S ol

Shik é";l"éfé&‘{’% _

5 47,

&,’ 48,

-w“II ‘
< ML_COyg) ©
@A)
-(B)

A
o
7 ued/ “le~

When the equation for the reaction represented
above is completed and balanced by the use of

lowes

for
(A)

(B) 2

©
(D)
(E)

Ag

hole-number coefficients, the coefficient

® J+ i: “z;%% )
)

-+

1

3
4
6

The oxidation state of nitrogen is most positive in

which of the following compounds?
~(A) NO5~
-.(B) NO,~ '
. ©NO
BNk ik

e MgCOy(s) + ... H3o'+g m5<)+ G0, + HE

’- Products of the reaction represented above include
" which of the following? . )

©)
D)

R
5 so.

. Mg(s)

5 HZO(Q) L e

Ionly - . . .
Monly . . =
ITand Illonly
ITand lTonly .

I, 11, and III

-

Of the following, thé field of organic chemistry

is LEAST concerned with the study of

{A) petroleum products
((B) alloys . . N
- (C) polymers -

D)
®

carbohydrates
alcohols




CHEMISTRY TEST—Continued

8 51. According to quantum mechanics, correct state- A 56.0 Hy(g) + I(g) + 519 kilojouleSf—-> 2 HI(g)
b ments concerning the electron in the hydrogen afom :
include which of the following? s Which of the following can be expected to increase )
<, It moves in a definite orbit around the nucleus. the rate of the reaction given by the equatlon above? i
@ It is associated with definite energy levels. I. Adding some helium gas ym / NG f/ )
HE. It occupies a fixed position in space wrth refer- - - II. Adding a catalyst
ence to the nucleus. III. Increasing the temperature
(A) Tonly | : | © @A) Iomly - -, : j
(B) Monly o © c(B) Wlonly . Rmv k LW’“}
(©) I and III only : 3 : (C) Tand II only .
(D) I and III only : - I and III only
(E) 1, II, and III . . I, I1, and II1
52. The conversion of Cr207 7 to Cr* duringa ‘ »
1%
chemical reaction is an example of - 57. Anexample of a network solid is
(A) hydrolysis (B) displacement - © o (A) limestone, CaCO; - L
(C) neutralization® (D) reduction - © .77 Y(B) tablesalt, NaCl "~ )

(E) oxrdatxon : o Lo T “(C) diamond, C

. ot el (D) dryice, CO,
?ﬁ 53. Oxidation- reductlon processes mclude all of the o - (E) iodine, I,
- following EXCEPT the . ‘ SR =

(A), burning of wood .
" {(B) rusting of iron :
(C) generation of power by a storage battery v
(D) combustion of gasoline in an automobile engine
(E{ conduction of an electric current in a'copper *

© wire : GBS L

¢

Concentration* .~~~ . .. '

54. Charactenstrc features of naturally radroact;ve
" elements include which of the followmg" _ i P . .
1. The emission of « or B partxcles or y rays w’ \ R S

IL A characteristic half-life ~ . ... S Y :

IIL. ~ Spontaneous decay J s i
(B) IandIonly =~ . ‘ : ' o .
(C) I and II only : e ‘58 {)r X(g) + Y(@)=Z(g)
(D) II and I only : S

I II, and III : . S The dxagram above shows that the reaction
: _ - between X and Y to form Z had come to equi-
é 5. What mass of Iead nitrate, Pb(NO5) ©+_ librium at time ¢;. The equilibrium shifts that
(formula weight = 331) is needed tzazr,nake . ~© occurred after time ¢, were most hkely caused by
~ 100 milliliters of a 1.00-molar solution? o which of the following? .
(A) 438 grams ’ ‘ (A) Adding more X and Y to the equlhbnum N
(B) 331 grams - . - mixture :
(C) 269 grams ) ) o (B) Addmg only more X to the equxhbnum
. e S o ‘mixture .
8:3))) g;? glrzx;: ‘ ’ ' ‘ (C) Addmg onlv more Y to the equxhbnum
ST ' - ' o - mixtuic _
) - (D) Increasing the temperature S _
_(E) Increasing the pressure - o S

B—

/



CHEMISTRY TEST—Continued

Questions 59-60 refer to the following situation.

A S-mole sample of Oxygen gas is added to a vessel
that contains 1 mole of hydrogen gas and that is main-
tained at a constant temperature. No chemical reaction

_occurs. The volume of the vessel remains unchanged.

\

@ 59. The ratio of the pressure exerted by the oxygen gas -

to the pressure exerted by the hydrogen gas is

(A) 6:1 : R
(B) 5: _

C) 4:1-

D 1:1

(E) 1:5

“After the gases are umf'o;rmly mixed, the partial
pressure exerted on the walls of the vessel by the

~ hydrogen gas is R TS
- (A)i% the original presstife - -

(B) "the samie as béfore the addition of the oxygen
(C) -twice-the original pressure

(D) 5 times the original pressure
(E) 6 times the original pressure

76

Dol

Q &,

For a particular compound, which of the following
pairs can represent the empirical and the molecular
formula, respectively? @5 ;

(A) CH; and C;Hq U s R

(B) CH, and C,H, - f;géh ey ‘g%‘;é‘%’%’g‘ggﬁ
(C) CHZ and C3H9 Got - T g
(D) CH and C6H6 st s

(E) CH and CH;,

H,0(2)~H,0(g)

Correct statements concerning the process above

occurring at 100°C include which of the following? .

L. The vaporization process is endothermic.
II. * The randomness of the system increases during
vaporization. «~ . ;
II.  The average potential energy of the vapor
molecules is greater g;};n that of the liquid
molecules. : ]

(A) Tonly .

(B) III only i

(©) Tand Il only

(D) II and III only e T
(B) LlLandll .. "o T

‘Which of the following statements about the halo-

gens is true? - 4 _ .

(A) They all form X~ jons. / : o ook
‘They have the lowest ionization (potential) g’ e
- energies of the elements in their respective
- periods. I P

(€) They are ali solids. gee2% - . & S i%@jﬁ

(D) They are among the best reducing agents. Oﬁ‘%

(’E) They all react gvit}; water to form basic solu- -

tions. Ritdpe - e




g

‘ {f/. 67. Both of the gas samples represented above are at the

CHEMISTRY TEST—Continued

64. On the basis of the acid dissociation constants given below, it
% can be determined that which of the following is the weakest oo
acid?

(A) HCN$H++CN- - K=4><’

(B) HCH;0,=H* + C;H;0,~ K=18x107°

(C) HF = HY + F~ K =67x10"%
(D) H;PO, = H* + H,PO,~ K=71x10"3
(E) _H2C03 = H* + HCO;" . K=44x10"7

(o, + + PP > W%

R,

-

» 65. The structure of CH,, the methane molecule is ca
g' 'best described as ! iy ‘ thpCoy + Naotk —> raytdy
"' (A) linear _(B) trigonal " (C) planar S0y + ~2 Wy 893

o (D) square  (E) tetrahedral . 42503 Moo’ =2 N3 +'\¥JD :
=

Q' 66. .A drying agent is not suitable for removing the H‘fﬁ" x Alaow
. water vapor from a sarnple of gas with which the Het + Aaot ~> ANol H—,,,O
‘drying agent reacts chemically. Which of the

il

. following gases can properly be drled by means | ~f0 - Naoh => Ao P_,x

. -of.NaOH ? -
.co2 ?so2 (C) HBr -
(D) 0, HCl »

-;-a‘m{i’.

same temperature and _pressure. The mass of H, in
_the one-liter container is 0.20 gfam. The mass of X -
. .in the two-liter container is 8 grams The molecular
- weight of X is :

(A) 10 (B) 20 (C) 40 (D) 60 (E) 80

77
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/M CHEMISTRY TEST—Continued

Questions 68-70 pertain to the reaction represented by _.71. Which of the following oxides dissolves in water to
the following equation: {. form a strongly acidic solutich? ‘

(A) NaJo ot = dbaolt ¢ 0o

22 NO(g) + O4(g) =2 NOz(g)_ + 150 kilojoules (B) CaO Coolt O
- - (© ALO;" 7= oW+ o
@ 68. The equilibrium constant for the reaction is given by . (D) ZnO =2 2NOWet o
the expression (E) 80y . Y. =2 Wa ST t.ﬁ?‘“
2NOj - » ' _ - il
@A) ENoT0;] - _72. At 23° C, 200 milliliters of an ideal gas exerts a pres-
' - E sure of 750 millimeters of mercury. The volume of
[NOP[0,] i : the gas at 0° C and 760 millimeters of mercury is
(B) INOE ‘ s __ found from which of the following expressions?
o __[2NOy R (A) 200 % 755 596 ™!
© s~ar—Tas _ : e
[2NOJ + [0,] | | ®) 200x;’-§—8x%m1
Nop S
® wopog v - © 200 x 756 < gl
o : IR ' 760 | 296
® BNowoy - - (D) 200 % 755 x sy ml
[2NO] | ' ) oi « 750 . 273
- | (5) 200 % 760 * 296 ™!
@ 69. Suppose that 0.80 mole of NO is converted N ' : o
' to NO,. The amount of heat evolved would be ’ ) ‘
(A) 150 kI go ) B T I
(B) 130kJ 0; s X
(C) 80.kJ o
(D) 60.kJ L .'§ K-) ’
(E) 30.kJ
f‘. 70. If 60 grams of NO and 60 grams-of O; are available, =~ = - oo R 4 o
S what is the maximum amount of NO, that can be S c R
~ produced? (Molecular weights: ' NO = 30., NO, = 46) A A =
46 grams . FA-re ‘ ’ )4 ) '
\ 60. grams :
92 grams
) 120 grams
(E) 180 grams
78




o

CHEMISTRY TEST—Continued

g 73. MnO,~ + 5 Fe2+ + 8H*— Mn?* + SFel* + 4H20(Q)

: In the equation for the reaction represented above, which of

.~ the following indicates the reductlon that takes place?
_(A) Fe?* + e = Fe3*

(B) F&** 4 e~ = Fe?*
(C) Fe**— Fe** '+ e~
(D) 2H* + 07> H,0(0) + 2e~

"~ (E) MnO,~ ~!-8H+ +Se - Mn2* +4HO(Q)

Electron removed

1st Electron 2nd Electron 3rd ‘Electron 4th Electron Sth Electron 6th Electron

Ionization energy

per mole .

(potential), kllopules

%7 730 10,538 13,618

18,101

74. The ionization energles (potermals) for the removal of different electrons from an atom of an element in the gas ph:

are shown above. An atom of this element is most likely to form an ion that has a charge of

(A) +1 (B) +2 (C) +3 @) +4 (E) +5

‘tions, the one that represents the element of lowest -

“(B) 1s22s22p® N‘
= (D) 152252 2p° 352 m@;

first 1omzat10n energy (potentxal) is
A) 152252295 ‘

(©) 152252 2p 35! Mo

(E) 132 252 2p 352 3p {A(\

'.A‘k‘A 250—gram sample of a hydrated salt was heated at
- 110° C until all water was driven off. The remaining

sohd weighed 160 grams. From these data, the

“.percent of water by weight in the original sample
- can be correctly calculated as .

(A)—3—Z(—)-><100 (B)mxloo (C)%—g—gXIOO

(D)zso 100 (E>ﬁ6“°° -

&

79




CHEMISTRY TEST—Coniinued

77. A 0.001-molar solution of which of the followmg

I

78.

79.

80

has a hydrogen ion concentration of 1 x 10~
molar?

(A) HC,H;0,
(B) HCl1

(C) NaHCO,
(D) NaH
(E) NaOH

H,O(0) + $2- =HS™ + OH~

In the equatxon for the reaction represented above,
the species acting as acxds (proton donors) are

(A) H;O(Q) and OH~
(B) H,O(R) and HS™
(C) OH™ and HS-

(D) HS™ and §%-

(E) HZO(Q) anci SZ‘ ‘

One species of element .X has an atomic .
number of 9 and a mass number of 19;0ne =
species of element Y has an atomic number

of 10 and a mass number of 19. Which of the
following statements about these two species is
true?

“(A) They are isotopes. B

(B) They are isomers.

(C) They are isoelectronic. R L

(D) They contain the same number of neutrons m
;- their atoms.

E) They contain the same total number of protons
plus neutrons in their atoms.

80. Some solid crystailine compog.nds slowly change to

the gaseous state when left at room temperature in
‘an open container. Which of the following is true
about this phenomenon?

(A) It is accompanied by an increase in tempera-
ture. -
(B) It is accompanied by an absorption of heat by
. the solid.
(C) Itis the result of a chemical reaction with air.
(D) Itis best described as fusion.
(E) It is observed only with ice.

~81. A test tube of carbon dioxide gas is inverted over

water, as shown above. The gas becomes more
soluble in the water if the :

-(A) water is heated
(B) gas is heated »
- (C) lip of the tube is moved to level I

(D) lip of the tube is moved to level II
(E) amount of gas in the tube is Pedu

CUINTO THENEXT Ao




82.

C.

83.

CHEMISTRY TEST—C{oniinued

A molecule of which of the following compounds
contains a double bond?

(A) C3Hyq

(B) C;Hq

(C) C;H,

(D) CHO

(E) CH,4

Each of the following systems is at equilibrium in a
closed container. A decrease in the total volume of
each container increases the number of moles of
product(s) for which system?

(A) Fei04(s) + 4Hy(g) = 3Fe(s) + 4H20(g)
(B) Hai(g) + Cli(g) = 2HCl(g) '
(C) CO(g) + Hy0(g) = COx(g) + Hz(g)
(D) 2NO(g) + Oy(g) = 2NO,(g)

(E) 2NH;(g) = Ny(g) + 3Hy(g)

v

84.

35.

Cly(g) + 2 Br™ (excess)—»
When 1 mole of chlorine gas reacts completely with
excess KBr solution, as shown above, the products

‘obtained are

(A) 1 mole of CI™ ions and I mole of Br -
(B) 1 mole of CI™ ions and 2 moles of Br
(C) 1 mole of CI™ ions and 1 mole of Br,
(D) 2 moles of C1™ ‘ions and 1 mole of Br,
(E) 2 moles of CI™ ions and 2 moles of Br,

NH;, are true EXCEPT:
5 W
(CO) 1t is readily soluble in water. :

All of the folléwing statements about ammonia,
(A) It has a characteristic odor.

(B) Itis a liquid at room temperature.

(D) Its aqueous solution has a pH above 7.
(E) It reacts readily with acids.

sToP .-

IF YOU FINISH BEFORE TIME IS CALLED YOU MAY CHECK YOUR WORK ON THIS TEST ONLY - |

-.DO NOT TURN TO ANY OTHER TEST IN THIS BOOK
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